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0600 ACTMD i o 0=/ 1EH, 1=21EH /5
0601 01_CYC | SV1 fLbE i w5
0602 ERROUTL | SV1 Fy4Hikn Be/5
0603 Reserved | fREAH /5
0604 02 CYC | SV2 [ LLf1 f 3 /5
0605 ERROUT2 | SV2 [ it HY /5
0610 ATP H 4 1 /5

B8t =B, 1=k . AT, LA e

oot | mock | T g?f}fv st s | B




0701 PV B PV fE i #% /5

0702 PV F PV {H U8 % /5

4-6 ASCIT A%

b7b6b5 | 000 001 010 |[011 |100 |101 |110 | 111
b4b3b1 0 1 2 3 4 5 6 7
0000 0 NUL TC7 (DLE) | SP 0 @ p ' p
0001 1 TC1(SOH) | DC1 ! A Q a q
0010 2 TC2(STX) | DC2 " B R b r
0011 3 TC3 (ETX) | DC3 # C S c s
0100 4 TC4 (EOT) | DC4 $ D T d t
0101 5 TC5(ENQ) | TC8 (NAK) | % E U e u
0110 6 TC6 (ACK) | TC9(SYN) | & F i f v
0111 7 BEL TC10 (ETB) |’ G W g W
1000 8 FEO (BS) | CAN ( H X h X
1001 9 FE1 (HT) | EM ) I y i y
1010 A FE2(LF) | SUB * J Z j z
1011 B FE3(VT) | ESC + K [ k {
1100 C FE4 (FF) | 1S4 (FS) : L \ 1 |
1101 D FE5(CR) | IS3(GS) - M ] m }
1110 E SO 152 (RS) : N 3 n ~
1111 F SI IS1(US) / ? 0 B 0 DEL

4

4.7
10
15
20
40
50

70

80

90

100
110
420
430
440
450
460
470
480

7 BASICA FER41

L WCERIATT, USSR, A SCPFE R  =AN H A

STX$ = “@”: ETX$ = ”:” :CR$=CHR$ (13)

REM #I{s 4k PC AL 1 A0 5l 6 X (ol 75 SR 1 v A )

REM {1 PC COML I, &' 1200 JRF, (AL, 7 75, 1 45 147, BRRAE 155
BPS$ = “1200” :ADR$="01" :REM % B 45 F AL LM iRk

OPEN “COM1:” + BPS$ + ”,E, 7,1,CD,RS,CS,DS” AS #1

CMD$="0100":REM READ PV
BC$ = ADR$ + CMD$ + ETX$
GOSUB 420

PRINT BCC$

STOP

BCC = ASC(LEFT$ (BC$, 1)): REM & /4%[%) BCC Heik s Fe v
L = LEN(BC$)

FORN=2T0 L

BCC = BCC XOR ASC(MID$ (BC$, N, 1))

NEXT N

BCC$ = HEX$ (BCC)

IF LEN(BCC$) = 1 THEN BCC$ = “0” + BCCS$:REM LNzt & 5 Ay sy, 5 hn”0”




490 RETURN

4.7, 1 AR IE R &

1-29 &
| 1 LOC: WL 7 X
| R/ HL R0 | OBERY, HIHGEI COM 57”41 Ko
I T | OfXAEH BT LIS A2, e i ir 5 =X (COM)
| comv | comm | AXEETE R AL A 4. T e S
I | | COM: A7 HLIE IR J5 2
| Loc | LOCAL | OLE}, FfGEI COM F5/RAT 52
' ' I OfXHE d AR B B B AR a4, B LOC L .
4.7. 2 ke
1
[ 1
| ¥laateimin e |

|

| 1
r— | #E=adIeE |
| |
L I

1

I

I

I

I

I

I

I I #H BOC 15

I

| |

I ] A EE

| || k@4 T |

I ! | I
| | | t No | |
I / \ / \ [
| / \ / \ (.
| | / ERZE N No o ] / RA= N\ | |
| | ¢ s ) —-— | #mwH4R |- ( R ) | |
[ \ e/ ' ! N2/ [
[ \ / \ / I
[ \ / \ / I
| | I Yes I Yes | |
I . . o
| || BRI | | HESFTER | |
| | | ssiBecHy | : S
I ! I
I | I
I / \ / \ (I
I / \ / \ [
I | / BCC K8\ No / kA= N\ No | |
[ (  IEE? ) « wHx )y -—" |
[ \ / N2/ |
[ \ / \ / |
[

\ / \ / |



I Yes | Yes

I

(A |

[ 1 sTenthiprsad | | HEEATER |
I K124 | ' '
(.
|
|

I

|

!
|

|

4. 7.3 RS485 il 4 1 F1 BASIC F& i )75
1. RS485 jll il /s 2 %]

I 1
| R | 485 MR |
| 485 | |
| N | |
| | I
R /BRI B A 2 |
|

| | |
— | |

| SR8O-(1) | | SR80-(2) |. . | SR80-(32) | |
1 I | I | |

RS485 JMINK I Z2 5l (R W e i, 1 e i iR 0L i Kl i 2 P e il 2o B AL

AN AR B P A AT 2 PR MR iy (RDA) AR (RSD) - £k LA B PN 8 A 36 A A A 3K ey
(SDA) FIMIG (SDB) £k A HEAE R L2k b, P I P RIRIE B IO R IR AL T i BHLOR T 2
i~ EE R AR P, TR BRSNS, IF R s
AT, 2 6 0GR IRSE I (BE%5) IIANFRRIX 2y o IR, AT #R A
IR E TR . KIL5EUR, FORLH B E BB s . SO Rk
Yo ua, S K& T, AN Ty st T

TR, AT BLA R A 15 2% e R M, JERIZy e B X, SRR ARl
WAL, BRI, N AL aS ROt IR £, HMC 7 A A% SO I 1E A ),
A REBEAT IEH (IE IR
2. RS485 X [ Adfe ok 2 e A F s T

1

I | 1 + A I
I | R EERST(A) | ————y I
I | I | \NO . o I
I | I |\ | I
I | Hetf 3% TXD(2) | - |k | 485 X ¥dh sk |
I I I |/ I I
I | pc-232 411 | |/ —1 o I
I

| BT s | | I



| | /| | I
| | / O—— I
| B EM RSD(3) | ———— ( £ | | |
| | A I
| | \ | I
| | |
232/485 FEARAE1E R K I

RS485 #52 [ BLRAE A Ed 56 e, SERI OGP A%, 75 WGV O & e a5 IR ad R o 1 A7
TEAG O I B o S e A b 5 R AR B e 1 B it 8 S LR T8 TR AR AR () v,
AR PR @© UART [RRIEZFAE 8 S AR Ay & @ SesE B E] F R I E i, Sk
R I EHE 56 1, DA B I O P A I%

AT AL RS232/485 #4 He 38 5 S A 232 1K) RST i SR K 3% A5 5 (AL B A7/ A B A5 5,
Y Ay R LB M2 I g il . 7 BASIC F£F¢ OPEN “COM 1, 1200, E, 7, 1,CD,RS, CS,DS” AS
#1 45, ¥Idat PC HLIAE IR, RST {55 &%, (AR IRA)#8A i i B o A $icdh
i, 7OUT (&H3FC) , &HOB” [ i 4>, 448 UART 8250 %y HH (1) RST {55 H5 fai, 2 K I% UK 5 2845 B B
B R REBEE SE RS, B 7 OUT (RH3FC) , &HO9” #ir 4, X4 RST 15 58 %, KIXIKE) Ak 5 ik
e LT H o

AR, TR RS4A85 A A A [) i 11, AR 00 VRGHE JBE, 3 36 B o 2 1 A 4
&) o

AV EH RS485 L A RRS, AR FWFAE 5020 %Y RS232/RS485 44 fe il HEL Hetbith,
Y LI JC 5 5 8 2R )45 ) 1)

5. M=%

AL L
YeRS-232C 1 H 1 2k 7 1]

[
| Hodh K% sp 2|

[

| RD I
(EAETE A RD 3| | sD |
| 183Kk K% RTS 4 F—- | SR80 %71 |
| Rk i% CTS 5 - | RS-232C |
| Hicdis 4% DSR 6 | |
|| 8 Al Ch 8 b~ | |
| Zds 28 £ DTR20 F—- | |
| {554 7| | SG |
| | | |
P CHL 25 %I RS-232C I 9 &1 RS232 (it 15 WLAH FH i BH 15)

YPC Ml RS—232C H: 11 25 4115 9 4F 4k p e 36 -

9PIN | 1

| T T
2 |3 14 |5 |e |7 |8 |9 |
| | |
1 | T




| 25PIN| 8 | 3 | 2 |
| | | | | | | | | | |

[
| 13 1| | /5 1 — |
| OO0O000000000O | | | | coooo | | |
I | | O] O] |
| 000000000000 | | | | oooco | | |
| 25 4 | | — 9 6 — |
L || |
25 AR e E JUEHAEIE B g R 2R 1A

B. RS232 & K AR E

1555 EIA RS-232C Hi~F (+12V)

2087 RS232C 3 & X T

3B ARG IR T AL, A IR

4TEWPER:  RS232C 15 K

SIS : 1200, 2400, 4800, 9600, 19200 yeHr#

6.4l 8 A,

RSB T AL, MBI, — M AL

TAPEEAR S B R GO

8.3 THAG - ASCIT

IGIEFET:  KIEH

0526 %:  RS-232C 1 &

C. RS422/RS485 I A% 11 ) AR Bt

155 H5F:  EIA RS422A/485 HiF 5V 23
2RI RSA22A 4 LT () /RS485 2 L Ftl T ()
BIRBF RS A IERFIRL, iR
4B 1200 >k
SJHINGESE: 1200, 2400, 4800, 9600, 19200 Jeks
6Hks L 8.
F AR X BB T, MR, ML
TR S COTY)
8.1 TH AL - ASCII
9ETET: R
0BG 8 RS-422/485 32 & 1.5 /A HL(WCSE#E RS232/422 H2 I HEHu3%)

6. C EE PP (X3 %)

#include<stdio. h>
#include<stdlib. h>
#include<conio. h>
#include<bios. h>
#include<{string. h>
#define CH1_PA 0x3f8
void transmitter() ;
int receiver();

void main ()



int length, i, h, j, m, number, flag, k;
char receive[100], comm[3], ccc[4];
char ch;
char send[]="D1";/*K ik 2%/
printf (“please input number:”);
scanf ("%d”, &k) ;
outportb (CH1 PA+4,0) ;/*disable interrupt, RTS, DTR*/
outportb (CH1 PA+1,0) ;/*disable interrupt enable registersk/
bioscom (0, 0xfa, 1) ; /%9600, 7, e, 1%/
clrser();
gotoxy (26, 1) ;
printf ("SHIMADEN CONTROLLER”) ;
gotoxy (10, 2) ;printf ("No”) ;
gotoxy (16, 2) ;printf ("SV”) ;
gotoxy (22, 2) ;printf ("PV") ;
gotoxy (28, 2) ;printf ("OP”) ;
gotoxy (35, 2) ;printf ("ALML") ;
gotoxy (43, 2) ;printf ("ALM2”) ;
gotoxy (50, 2) ;printf ("LBA”) ;
gotoxy (58, 2) ;printf ("ST”) ;
gotoxy (64, 2) ;printf ("A/M”) ;
while (!kbhit ()
{
for (number=0; number<k:; number++) {
h=number+1;
gotoxy (10, 3+number) ;printf ("%d”, h) ;
itoa(h, comm, 10) ;
if (h<10) {send[1]="0" ;send[2]=comm[0] ;}
else {send[1]=comm[0];send[2]=comm[1];}
length=strlen(send) ;
for (m=0;m<3; m++) /* Retry */
{
transmitter (send, CH1 PA, length) ;
i=receiver (receive, CH1 PA);
if(i!=0) break;
}
if (i==0)
{ printf("Timeout\n”) ;}
else{ gotoxy(15, 3+number) ;
for (j=5; j<9; j++)
printf ("%c”, receivelj]);
gotoxy (21, 3+number) ;
for (j=10; j<14; j++)
printf ("%c”, receivelj]) ;
gotoxy (27, 3+number) ;
for (j=15; j<19; j++)



printf ("%c”, receivelj]);
for (j=21; j<24; j++) ccclj—21]=receivelj];
flag=atoi (ccc) ;
gotoxy (35, 3+number) ;
if (flagk0x01) {printf("SAFE”);}
else printf ("ACT1”);
gotoxy (43, 3+number) ;
if (flagk0x02) {printf("SAFE”);}
else printf ("ACT1”);
gotoxy (50, 3+number) ;
if (flag&0x100) {printf ("SAFE”) ;}
else printf ("ACTIL”);
gotoxy (57, 3+number) ;
if (flagk0x04) {printf("ENAB”);}
else printf ("DISA”);
gotoxy (64, 3+number) ;
if (flagk0x20) {printf("MANU");}
else printf ("AUTO”) ;
1

1

1

/*Transmitter Functionk/
void transmitter (char *send, int BASE ADD, int len)
{
int j;
outportb (BASE ADD+4, 0x02) ; /*enable RTS, enable send*/
for (j=0; j<len; j++)
{outportb (BASE ADD, send[j]); /*send a bytex/
/*check if transmiting shift register is empty*/
while ((inportb (BASE ADD+5)&0x40)==0) ;
}
return;

}

/* Receiver Function, success return the number of received byte
failure return 0 */
int receiver(char *rec, int BASE ADD)
{int i=0;
long j=0;
outportb (BASE ADD+4, 0) : /*disable RTS, enable receive#/
while ((inportb (BASE ADD+5)&0x01) !=1) /* receive data available? */
{j++:if (j>20000) return(0):}
rec[0]=inportb (BASE ADD) ;/*receive data%/
do
{while ((inportb (BASE ADD+5)&1) !=1) /*receive data available?*/



{j++;if(j>20000) return(0):}
rec[i]=inportb (BASE ADD) ;/#receive data%k/
it++;

Jwhile (rec[i-1]!=0x2a) ;

return(i) ;

}





